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1. lepF# P

(A) 22t (B) 24mm (C) 22 ATP (D) #A NAD"  (E) /i NADP'
2. PrpERE o &

(A) 22 ATP (B) 4 L DNA (C) #4- RNA (D) Hd5s F (E) i 3v I
3. TAVR- a4 EAAFY 54 & BT 2

(A) 22 % A (B) @2%Bl (C) @4 %B12 (D) 22 %D (E) a4 %2 E
4. BT T Bifeacnd AP TR FORERRT 25 ?

(A) FAD (B) FMN (C) cytochrome C (D) ubiquinone (E) NAD"
5. @Bt E EC A4 kst TV BRtE e H i B A B A 2

(A) s-pass & p= lactate dehydrogenase (B) % ¥ & p= cyclooxygenase

(C) = & ¥ p&:®  p= dihydrofolate reductase (D) w*®z ¢ % C ¥ it = cytochrome C oxidase
(E) #p3 pek i ps adenylate cyclase
6. HHMAT Y o BRT HTIOF i dck
(A) -1/3 (B) -1 ©o (D) +1 (E) + 1/3
7. #Ef2iT® (glycolysis)® » wi— BAEE i gk RAFBELT I AV AF 5 BTE S
®iEed AR RCE R ek R 7
(A) = mLbE#cp= hexokinase (B) ®iptd % #& £ Hp5 phosphoglucose isomerase
(C) pgémps aldolase (D) #ips s # £ Hp5 triosephosphate isomerase
(E) *fp#p* enolase
8. P FEFH FHIPEERS %“%hff%l?ﬁi% TAZIEWEC 2 A2 TR fE e S 7

(A) CO; (B) O (C) He (D) Hz0 (E) CH:OH
9. THVE- AT A5 F AE 2
(A) AR (B) ki (C) DNA (D) S F

(E) ¢ fe"24 acetylcholine
10. Fv FAF ¥ o vR- fEIRA R S s 2 7

(AM (B)R €L (D)P (B)C
11, = %% fFimre @ ,“,/TT‘J C-H-Oz*»38&%h24 i
(A F (B)1 (C)N (D)P (E)S

12. %5 kAR5 SMANaCl gk 3 2= » Bom 3N R+ 5 RR 5 1M S NaClig e 2 24 > 7l
FITAEMBRME TS 24

(A)0.5 (B) 1.5 (C)2 (D) 2.5 (E) 3
13, # k 2@ 820 s g ey v s (lipase) .- 8

(A) *t & f= dehydrogenase (B) prnp+ esterase

(C) -k & p= hydratase (D) scp= kinase

(E) f2ap lyase
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14, RIFEAHR(TCAcCycle)? » S 2 Xy Mhi &R IHXFS

(A) NAD* (B) O; (C) #& #p& citric acid
(D) 2 # % pt fumarate (E) CO»
15. FLpach®m < 5
(A) gallicacid (B) lacticacid  (C) milk acid (D) myristic acid (E) stearic acid

I1. Multiple choices. Please choose the best answer for each question. (10%)

1. For the study of a protein in detail, an effort is usually made to first:
(A) conjugate the protein to a known molecule. (B) determine its amino acid composition.
(C) determine its amino acid sequence. (D) purify the protein.

2. The term specific activity differs from the term activity in that specific activity:
(A) is measured only under optimal conditions.
(B) is the activity (enzyme units) in a milligram of protein.
(C) is the activity (enzyme units) of a specific protein.
(D) refers only to a purified protein.

3. Anindividual molecular structure within an antigen to which an individual antibody binds is as a(n):
(A) antigen. (B) epitope. (C) Fab region. (D) Fc region

4. How is trypsinogen converted to trypsin?
(A) A protein kinase-catalyzed phosphorylation converts trypsinogen to trypsin.
(B) An increase in Ca’* concentration promotes the conversion.
(C) Proteolysis of trypsinogen forms trypsin.
(D) Trypsinogen dimers bind an allosteric modulator, cAMP, causing dissociation into active trypsin
monomers.

5. Which of the following is a dominant feature of the outer membrane of the cell wall of gram-
negative bacteria?
(A) Amylose (B) Cellulose  (C) Glycoproteins (D) Lipopolysaccharides
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1. B % 22(20%)
1. 3% &1 2 P2t Mitochondria 22 2 #73 # & (10%)

2. 3R it Western, Northern % Southern blot analysis 2. 32 % p &1 (10%)

IV. % %% 3+ 4E(40%)
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3. AR AL A SR AT (7 460 A A RIEA T VR S E G313 2 (5%)
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